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Instructions : All questions are compulsory.
(i) T FAF 1D 5 7 A TG T T | A T T 3 et R 1
T 1 IW 1 9% Al 1 9 8 i
Question Nos. 1 to 5 are very short answer type questions. Each
question carries 1 mark. Answer should be given in 7 word or ]

sentence.
(iii) W¥1 A 6 | 10 T Jede T W 2 3t mifea ¥ | (IR-FM 30 7))

Question Nos. 6 to 10 carry 2 marks each. (Word-limit 30 words)
(iv) W 11 Q 22 7 TeF T W 3 37 afed § | (IR-H 509<)
Question Nos. 11 to 22 carry 3 marks each. (Word-limit 50 words)
(v) T HEF 23 W 4 3% qefed € | (UK-HH 70 )
Question No. 23 carries 4 marks. (Word-limit 70 words)
(vi) W FEIE 24 ¥ 26 % TAF §H W 5 3 afed §1 (W

100 V)
Question Nos. 24 to 26 carry 5 marks each. (Word-limit / 00 words)

(vii) &1 STava® B, a8l W= a AWiferd o I |
Draw clean and labelled diagram wherever necessary.
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Bleeding stops by rubbing alum, why?
W2 fagdied vk w2 | (1

What is denatured alcohol?

TWA-3  HE aEm w3 5w 2 o m
What is called oil of bitter almond? |

-4 Wt e S gorn o fgdas i sfues Rt 9 E, #1402 (1]

Why secondary amines are more basic than the primary amines?

WeA-5 Y ¥ Iqfeyq Wb 1 W s | [1]

Name the sugar present in the milk.

weI-6 ARy 22 WA (CgH) F 122 T e 2gEiREs (CCly) e &,
A A Td FrER TEERES % FoAuE Wi S oA Hif 2]

Calculate the mass percentage of benzene (C4H,) and carbon tetra-
chloride (CCly), if 22 gm of benzene is dissolved in 122 gm of carbon

tetrachloride.

v9A-7 WWHW%?W' ' 2]

What is energy barrier? Explain.

w99-8 mﬁﬁﬁmmww@a@ﬁﬂiﬂ? 2]

Noble gases have comparatively large atomic size, why?

T9T-9 fei e aifaa s i TR FHlwT Hied TR | 2]

Explain Hofmann mustard oil reaction giving chemical reaction.

qui-10  dEiedeEs (i) § AR (Uuedi) S8 e for s ? 2]

How aminoethane (cthylamine) is obtained from acetaldehyde (ethanol)?
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&0 o Fram ferme su% < argwdm fatau [142=3]

State Henry’s law and mention its two applications.

IMUE (BYH) TF 30F fufiran fird w28 §2 & 3 dfed
RLEIE (3]

Explain what is called pseudo-first order reaction by taking one example.’
53 ¥IEl T 53 fdet Fieiise § i sk fafa) (3]
Write three differences between Lyophilic and Lyophobic colloid.

AT H W SRS F/ 741 e & ? e SRATHES 5
faiste 101 = TRy [1%+1%=3]

How sulphur dioxide is prepared in laboratory? Explain the bleaching

property of sulphur dioxide. https://www.cgboardonline.com

FR-eeier Afe w2 fA @ oim-teiom difel 1 G
fafaw) . [1+2=3]
What are inter-halogen compounds? Give the structures of any two

inter-halogen compounds.

frefafaa Sygggarst Afel & IUPAC =M fafax : [1+1+1=3]
() K,[Ni(CN),]

(i) [CoCly(en),]Cl

(i) [Cr(NH5)gl**

Write the IUPAC names of the following coordination compounds :

(i) K,[Ni(CN),]

(i) [CoCly(en),]CI

(iif) [Cr(NH;)3*
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gg-17  SN! (W~ -2 sfirern) sfufean @ sa e

qHEARE |

Explain SN! (uni-molec

| ylar nucleophilic substitution) reaction with
example. RS '
yea-18 T & T A 3 w2
() 2,4, 6-TERAEA
(i) St
| How the following compounds can be obiained from pheno!"."
() 2,4, 6-Tribromophenol

(ii) Benzene

Tg-19  fafere w s Serltarcor fafl s & 2 7o g s fafir & 2 O
dfe | '

What is Williamson’s continuous etherification process? Is it a

continuous process? Give reasons.

U91-20 {ﬂﬁﬁ?ﬂ%?mﬁﬁmﬂjﬁwml

What is Urotropin? Write its structural formula and uses.

Uyt-21 e §, WE—
() T feeers et faed & fr w1 §;

3]

[1%+1%=3]

[142=3]

[1+1+1=3]

(if) iifras s FrewE YeEenEs B fEE w2 [1%+1%=3]

What happens, when—
(/) acetaldehyde reacts with Fehling solution;

(i) acetic acid reacts with phosphorus pentachloride?

ws-22  DNA a1 RNA H % di= s fafa@n | '
Write any three differences between DNA and RNA.

1314
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-23 freafafaa el i
I T ol 4 faie e - (2+2=4)
(@) Tt e T v Hfem
(i) e R T s R
Distinguish between the following pairs :
(i) Crystal lattice and Unit cell
(i) Tetrahedral void and Octahedral void
arear
OR
- HRT TG (fo.c) Ga Fn &2 o g wwwEe) e de H
QST I WE q| S
What is face-centered cubic (f.c.c.) cell? Explain with diagram.
Calculate the number of atoms in unit cell.
qvA-24 e frm wn § 2 sad e @ S B weeRe [3+2=5]
What is Kohlrausch’s law? Explain its any two applications.
37Yqr
OR
M‘wﬁmﬁmmwlﬁﬁquﬁw
<TerEal 1 U o 9 faf@u)
Explain the redox reaction with example. Write the definition and
unit of the specific conductance and molar conductance.
qgA-25 %ma@aﬁw%?%maﬁﬁ?%awﬁaqﬁm
fafaw) [1+2+2=5]
What is lanthaneid contraction? Write two causes and two
consequences of lanthanoid contraction.
NM-39 A P.T.O.
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3rerar
OR
BT T (4~ ) Fordt e § 2 e wfe wrmer—
(i) ¥swor v wen 3w srfirie A ST §
(i) Hshaor urqd grr: i i F ¥
What are transition elements (d-block elements)? Explain giving reasons—
() transition metals and many of their compounds show

paramagnetic behaviour;

(if)  transition metals generally form the coloured compounds.

ffafan  sfufirmell ® wwemy (Sou ToEfe T
fafaw)

() vfafesito

(i) Tomaifaasia

(it}) wrsa-srry aAfufwa

(iv) e sfufswan

(v) FAHTEA 399

Explain the following reactions (write only chemical equations) :
({) Acetylation

(if) Decarboxylation

(i) Friedel-Crafts reaction

(iv) Schmidt reaction

(v) Clemmensen reductiop
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3yerar

OR
o FEATATE TR 5 aHfisan 2 T § firg yoR g 012
() SR R W
(i) STSIEIEE Y FABHA
(i) XA | 3-TRII
(iv) oS I § S9TERRS
(v) S § 1-hie

: . 1c in not more than
How will you bring about the following conversions 1n

2 steps?

(i) Propanone to propene

WOoD AUIUOPIROQ3d Mmm//:sdny

(i) Benzaldehyde to benzophenone

(iii) Ethanol to 3—hydroxybutanal

(iv) Benzoic acid t0 benzaldehyde

(v) Bromobenzene 0 l—phenylethanol
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